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* - ‘_‘L 12 -L =T e ‘ 1 1 1 1 1 1 1 N 330 416.90 2188
2 2 2 1 1 2 1 1 LN 3.80 208,60 2218
3 3 3 1 1 1 2 1 1% 3.60 415.48 2165
1 4 4 1 1 2 2 1 1% 370 227 68 38.50
5 ] ] 1 1 1 1 2 1% 2490 418.32 21.46
6 B B 1 1 2 1 2 10 3.00 227 B4 38.53
7 7 7 1 1 1 2 2 10 2595 412,60 21.81
8 g 3 1 1 2 2 2 10 308 22286 40.41
9 9 9 1 1 1 1 1 2% 3.80 417.00 2188
10 10 10 1 1 2 1 1 2% 3.90 306.80 2832
11 1" 1 1 1 1 2 1 209 4.00 417.00 21588
12 12 12 1 1 2 2 1 209 410 22920 38.36
13 13 13 1 1 1 1 2 20 420 418.00 2182
14 14 14 1 1 2 1 2 20 430 22810 38.47
15 18 15 1 1 1 2 2 2% 4.40 418.20 21.46
16 18 1B 1 1 2 2 2 2% 480 221.80 40,61
17 17 17 1 1 1 1 1 TN 286 410.70 219
18 13 13 1 1 2 1 1 TN 280 41282 21.81
19 19 12 1 1 1 2 1 1N 260 300.68 2893
20 20 20 1 1 2 2 1 1N 285 24420 3683
21 21 21 1 1 1 1 2 1N 265 41316 2179
22 22 22 1 1 2 1 2 TN 4.60 411.80 2187
23 23 23 1 1 1 2 2 1N 470 418.60 21.49
24 24 24 1 1 2 2 2 TN 287 226.28 3876
25 25 25 1 1 1 1 1 2N 270 409.76 21.96
26 26 28 1 1 2 1 1 2N 4.80 414.80 2N
27 2 27 1 1 1 2 1 2N 275 306.00 28.40
28 2 28 1 1 2 2 1 2N 4.90 245.00 3675
29 29 28 1 1 1 1 2 2N 5.00 427 92 21.03
30 30 30 1 1 2 1 2 2N 510 410.56 2193
31 31 )l 1 1 1 2 2 2N 277 303.28 2967
32 32 32 1 1 2 2 2 2N 5820 22568 38.86
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